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Directions: In each of the questions given below, four words
are given in bold. These four words may or may not be in their
correct position. The sentence is then followed by options with
the correct combination of words that should replace each
other in order to make the sentence grammatically and
contextually correct. Find the correct combination of words
that replace each other. If the sentence is correct as it is, select

‘E’ as your option.
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Question 1 0:30

There is a view that the across (A) of the rupee has been

the appreciation (B) of a general result (C) of the dollar
depreciation (D) all currencies.

A. Only A-D

B. Both B-C and A-D

C. Only B-D

D. Both A-B and C-D

E. The sentence is correct
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Question 2 0:30

Since the stable (A) of capital flows in 1991, India has
always faced a current account deficit (B) but inflows of
capital have allowed (C) the country to have a liberalisation
(D) balance of payments (BoP).

A. Both B-D and A-C

B. Only A-B

C. Only A-D

D. Both B-C and A-D

E. The sentence is correct
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Question 3 0:30

The razzmatazz for toilet construction/ODF certification
has overshadowed (A) the fact that the essence (B) of
universal water and sanitation coverage is derived (C)
from the right to life, guaranteed (D) by Article

21 of the Constitution.

A. Both A-D and B-C

B. Only A-B

C. Only B-C

D. Both A-B and C-D

E. The sentence is correct
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Question 4 0:30

Union minister M.J. Akbar newspapers (A) to take legal
action against several women journalists (B) who had
accused (C) him of harassment at two threatened (D)
where he had been editor.

A. Both A-B and C-D

B. Only C-D

C. Only A-B

D. Only A-D

E. The sentence is correct
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Question 5 0:30

The Election Commission has announced (A) second
installment of 1,100 more VVPATs ensuing (B) the State
for the to (C) elections in the first week (D) of December.

A. Both B-D and A-C

B. Both A-B and C-D

C. Both B-C and A-D

D. Only B-C

E. The sentence is correc.
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Question 6 0:30

Chelsea's Eden Hazard has revealed his appreciation (A)
for Manchester United manager (B) Jose Mourinho and
said (C) the Portuguese is the one coach

he would like to work (D) with again.

A. Both A-B and C-D

B. Both A-C and B-D

C. Both A-D and B-C

D. Only C-D

E. The sentence is correct
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Question 7 0:30

Under tremendous trying (A) from the media and the
Congress for taking some action against Saudi Arabia, after
the sudden disappearance (B) of Saudi dissident and
journalist Jamal Khashoggi in Turkey, Mr. Trump told
reporters that he is pressure (C) to get at the bottom of the
issue and has sought details (D) of it from Saudi Arabia.

A. Both A-D and B-C B. Both A-C and B-D
C. Only A-C D. Both A-B and C-D
E. The sentence is correct
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Question 8 0:30

The mural — in a town which contentious (A) voted to
leave and is one of Britain’s main crossing points to the
continent — gained much elusive (B) after it emerged
that it was the work of Banksy, the attention (C) artist,
who till this time had not made known his political views
on the overwhelmingly (D) Brexit referendum.

A. Both A-D and B-C B. Only A-C
C. Only B-D D. Both A-B and C-D
E. The sentence is correct
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Question 9 0:30

While Mahindra will balance (A) 60% stake in the new
company (B) named Mahindra Summit (C) Agriscience
Limited, the hold (D) will be with Sumitomo Corporation.

A. Only B-C

B. Both A-D and B-C

C. Only A-D

D. Both A-C and B-D

E. The sentence is correct
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Question 10 0:30

China and the United States have slapped (A) tit-for-tat
tariffs over the past few months, rattling (B) financial
markets as investors worried the escalating (C) trade war
could knock (D) global trade and investment.

A. Both A-C and B-D

B. Both A-D and B-C

C. Both A-B and C-D

D. Only B-D

E. The sentence is correct
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Directions: A sentence is given below with three/two words
highlighted in bold. Select the option that gives the correct set
of words as a replacement to the bold words. In case the
sentence is correct, select ‘No improvement required’.
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Question 11 0:30

Any kind of accounting intrigue that makes the books
look rosy will come at the cost of inaccuracy with which
banks reflect their financial condition.

A. techniques, precision, state

B. subterfuge, consistency, position
C. chicanery, accuracy, health

D. shenanigan, correction, sound

E. No improvement required
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Question 12 0:30

The actual reason that led to the breakthrough of the current
conflict could be the controversial Prasad Education Trust case,
in which the petitioners alleged that some individuals were
envisaging to influence the Supreme Court.

A. emission, disputed, conspiring

B. outbreak, contentious, plotting

C. eruption, combative, conceiving

D. breakout, contradictory, castigating
E. No improvement required
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Question 13 0:30

Following public protests and political pressure, and on
the strength of hurriedly drafted legislation, jallikattu is
now back on the Pongal calendar.

A. Coming, gains, prepared

B. Succeeding, movement, ordered
C. After, push, designed

D. Violent, conflicts, made

E. No improvement required
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Question 14 0:30

Civil society groups are afraid that the measure is
objective to grant immunity to the police and the
military, as well as to fine critics.

A. apprehensive, intended, penalize
B. concerned, objection, punish

C. thinking, aimed, support

D. happy, made, impoverish

E. No improvement required
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Question 15 0:30

The cycle comes each passing year, with the lag among
price and production enriching a huge mismatch
between supply and demand.

A. follows, from, leading

B. stop, of, generating

C. runs, in, reasoning

D. repeats, between, causing
E. No improvement required
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Question 16 0:30

Alleging that the Finance Minister concluded with Vijay
Mallya by giving him a safe passage to escape from the
country, Congress demands for his resignation.

A. secluded, requests
B. colluded , asks

C. link-up, urge

D. dialogue, seeks

E. No improvement
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Question 17 0:30

Over 170 persons were acclaimed as accused in the serial
blasts case and were culpable under various sections of
the IPC.

A. claimed , charge

B. criminalized , charged
C. reproach, booked

D. arraigned, charged

E. No improvement
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Question 18 0:30

Alibaba founder Jack Ma announced that he would step-
up from the post of the chairman of the Chinese E-
Commerce giant next year.

A. profused , progress
B. proclaimed, slog
C. announced, resign
D. proclaimed, grow
E. No improvement
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Question 19 0:30

MUDRA Loans and Kisan Credit Cards have to be
examined more closely for potential credit risks.

A. involved, prudential
B. test, future

C. investigate, estimated
D. observed, actual

E. No improvement
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Question 20

0:30

The falling Indian rupee will make the imports costlier
and will upshot to a fall in the fuel prices.

A. lead, rise

B. result, rise

C. lead, increase

D. develop, reduction
E. No improvement
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